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QUESTION 1

Which two DB2 objects can a view be derived from? (Choose two.)
A. View

B. Index

C. Table

D. Trigger

E. Procedure

Correct Answer: AC

QUESTION 2

What mechanism is typically used to automatically update other tables, generate or transform values for inserted or
updated rows, and perform tasks such as issuing alerts?

A. Trigger

B. Procedure

C. Table function
D. Scalar function

Correct Answer: A

QUESTION 3

Which two statements are true about foreign key constraints? (Choose two.)

A. The foreign key constraint columns must be supported by an index.

B. The foreign key constraint columns must be defined as NOT NULL.

C. The number and data types of foreign key constraint columns must match the parent key.
D. The columns of one foreign key constraint cannot be used in another foreign key constraint.

E. To define a foreign key constraint there must be an associated primary key or unique key in the same or different
table.

Correct Answer: CE

QUESTION 4
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A table named STATES was created as follows:

CREATE TABLE states

(statz_cd CHAR(Z2) NOT MULL,

state desc CHAR(Z0)),

CREATE UNIQUE INDEX ndx1 ON states (state_cd);

If the following ALTER staterrent is executed:

ALTER TABLE states ADD PEIMARY KEY (state_cd),

What will happen?
A. An error will be returned and the operation will fail.

B. A warning will be returned and the unique index INDX1 will become the index for the primary key.

C. The primary key will be successfully added and the unique index INDX1 will be dropped and recreated as the primary

key index.

D. The primary key will be successfully added, the unique index INDX1 will be dropped, and a new index will be created

for the primary key.

Correct Answer: B

QUESTION 5

Which SQL statement would be used to retrieve only salaries that are greater than $100,000.00 from a table named

EMPLOYEE?

A. SELECT * FROM employeeWHERE salary

B. SELECT salary FROM employeeWHERE salary > 100000

C. SELECT salary FROM employeeWHERE salary > 100,000.00

D. SELECT * FROM employeeWHERE salary GREATER THAN 100000

Correct Answer: B
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